ASVIN

B —

Repucer HF seRiEs

INGENUITY CASTING PRECISION
HELIcAL PRODUCTS

V1.2.5

| .

Tel: +33(0)161086219 - Fax:+33(0)134839738 - www.a2vfr - a2v@a2v.fr



CONTENTS

Low noise

Below 65db.

Low Backlash

@# One stage within 3 armin,
Two stage with 5 arcmin

High efficiency

R\

One stage is exceed 97%,
Two stage is exceed 95%

PRODUCT APPLICATION

High input speed

Up to 5000 RPM

High torque

Higher than conventional planetary
gearbox

High stability

Using high-strength steel aloy metal
Not just hardening on gear surface, but
hardening entire gear ot insure the gear
life time and maintain high accuracy.

Aerospace, military industries, medical health care, electronic information technology industry, industrial
robot, production automation, CNC machine tool manufacturing industry, motor, textile, food, metallurgical,
environmental protection engineering, warehouse and logistics industry.



Stage Ratio Nominal

Torque

\\[3}

Max

Speed

Nominal

RPM

Max

Radial

Max force

N

TECHNICAL DATA

AVAE]

Backlash

Arcmin

Efficiency

%

Weight

Kg

3 35 70 3000 6000 920 630 3 97 1,1
4 45 90 3000 6000 920 630 3 97 11
1 5 44 88 3000 6000 920 630 3 97 11
7 40 80 3000 6000 920 630 3 97 11
10 22 44 3000 6000 920 630 3 97 11
15 35 70 3000 6000 920 630 5 97 16
16 45 90 3000 6000 920 630 5 97 16
20 45 90 3000 6000 920 B30 5 97 16
25 44 88 3000 6000 920 630 5 97 16
28 45 a0 3000 6000 920 630 5 97 16
2 30 35 70 3000 6000 920 630 5 97 16
35 44 88 3000 6000 920 B30 5 97 16
40 45 90 3000 6000 920 B30 5 97 16
50 44 88 3000 6000 920 630 5 97 16
70 40 80 3000 6000 920 630 5 97 16
100 22 44 3000 6000 920 630 5 97 16
3 100 200 3000 6000 1400 600 3 97 3
4 110 220 3000 6000 1400 600 3 97 3
1 5 105 210 3000 6000 1400 600 3 97 3
7 100 200 3000 6000 1400 600 3 97 3
10 50 100 3000 6000 1400 600 3 97 3
15 100 200 3000 6000 1400 600 5 97 4.3
o 16 110 220 3000 6000 1400 600 5 97 43
8 20 110 220 3000 6000 1400 800 5 97 43
e 25 105 210 3000 6000 1400 600 5 97 43
I 28 110 220 3000 6000 1400 600 5 97 4.3
2 30 100 200 3000 6000 1400 600 5 97 43
35 105 210 3000 6000 1400 600 5 97 43
40 110 220 3000 6000 1400 600 5 97 4.3
50 105 210 3000 6000 1400 800 5 97 4.3
70 100 200 3000 6000 1400 600 5 97 4.3
100 50 100 3000 6000 1400 600 5 97 43
3 230 4860 3000 6000 3000 2500 3 97 6.8
4 270 540 3000 6000 3000 2500 3 97 6.8
1 5 255 510 3000 6000 3000 2500 3 97 6.8
7 180 360 3000 6000 3000 2500 3 97 68
10 120 240 3000 6000 3000 2500 3 97 6.8
15 230 480 3000 6000 3000 2500 5 97 10
0 16 270 540 3000 6000 3000 2500 5 97 10
- 20 270 540 3000 6000 3000 2500 5 97 10
N 25 255 510 3000 6000 3000 2500 5 97 10
I o8 270 540 3000 6000 3000 2500 5 97 10
2 30 230 480 3000 6000 3000 2500 5 97 10
35 255 510 3000 6000 3000 2500 5 97 10
40 270 540 3000 6000 3000 2500 5 97 10
50 255 510 3000 6000 3000 2500 5 97 10
70 180 360 3000 6000 3000 2500 5 97 10
100 120 240 3000 6000 3000 2500 5 97 10
3 450 900 2000 4000 5800 4500 3 95 17
4 580 1160 2000 4000 5800 4500 3 95 17
1 5 540 1080 2000 4000 5800 4500 3 95 17
7 390 780 2000 4000 5800 4500 3 95 17
10 230 4860 2000 4000 5800 4500 3 95 17
15 450 900 2000 4000 5800 4500 5 95 24
o 16 580 1180 2000 4000 5800 4500 5 95 24
S 20 580 1160 2000 4000 5800 4500 5 95 24
LII- 25 540 1080 2000 4000 5800 4500 5 95 24
28 580 1160 2000 4000 5800 4500 5 95 24
2 30 450 900 2000 4000 5800 4500 5 95 24
35 540 1080 2000 4000 5800 4500 5 95 24
40 580 1160 2000 4000 5800 4500 5 95 24
50 540 1080 2000 4000 5800 4500 5 95 24
70 390 780 2000 4000 5800 4500 5 95 24
100 230 480 2000 4000 5800 4500 5 95 24




TECHNICAL DATA

Backlash

Torque Speed Max force

Nominal Max Nominal Max Radial JAVAE]
Nm RPM [\

Efficiency = Weight

Arcmin % Kg

3 1000 3000 9500 6800 3 95 31,5

4 1300 2600 1500 3000 9500 6800 3 95 31,5

1 5 1100 2200 1500 3000 9500 6800 3 95 31,5
7 800 1600 1500 3000 9500 6800 3 95 31,5

10 460 920 1500 3000 9500 6800 3 95 31,5

15 1000 2000 1500 3000 9500 6800 5 95 37,5

16 1300 2600 1500 3000 9500 6800 5 95 37.5

20 1300 2600 1500 3000 9500 6800 5 985 37,5

25 1100 2200 1500 3000 9500 6800 5 95 37,5

28 1300 2600 1500 3000 9500 6800 5 95 37.5

2 30 1000 2000 1500 3000 9500 6800 5 95 37.5
35 1100 2200 1500 3000 9500 6800 5 95 37,5

40 1300 2600 1500 3000 9500 6800 5 95 37,5

50 1100 2200 1500 3000 9500 6800 3] 95 37.5

70 800 1600 1500 3000 9500 6800 5 95 37.5

100 460 920 1500 3000 9500 6800 5 95 37,5




DRAWINGS

- c8 -
37 8
7.5
28 T T
8 I
o ol — o T NI
2 I === o R B RN R e m W
T ) ) I L ;_,__::::;_Aﬂu
M5X10/ I ."_{:_-‘J
| L 1
!
T C6
. G
c8
7.5
28 :
ql - T
= 25 ! }
8 I~ " ]
() \_93 — . ; ——
L S A& T T TRR
T oy | SRR B S . 4V
X10 | N
|
I ' ' —
1. Cé -
SR . S L 162 N

Stage
247,14 4-M4 28 30 238,1 5 65 112
HFOB60-L1 246 4-M4 28 30 230 5 65 112
(Single) 245 4-M3 8 30 230 5 65 112
270 4-M4 /4-M5 214 33 250 5 65 115
24714 4-M4 28 30 238,1 5 65 136
HF060-L2 246 4-M4 28 30 230 5 65 136
(Double) 245 4-M3 8 30 230 5 65 136
270 4-M4 /4-M5 214 33 250 5 65 139




DRAWINGS

Cc8
48 12
10.5 |
e 36 |
- -
1 i |
DI .33 _
)
= ©
(te]
. R I== oy
{M8X16
- cs -
.48 12
105 |,
A 't T
33
o
1 o wl o o ~f r~
@) U R
% 3 S .': 3 2 ju ‘
L M8X16 / k
T
e 1 1
ol C6 =

Stage
2984 | 4MB/4M5 | 214/019 50 273 6 90 148
HFO90L1 290 4M5,/4-MB 219 50 270 6 90 148
ol 2115 48 219,022 62 295 8 110 160
(Sing 2130 4M8 219,/022 B2 295 8 110 160
2145 4M8  |019/002/024] 655 2110 14 130 1635
%70 4M4/4-M5 214 38,5 250 5 65 175
2984 | 4MB/4M5 | 214/219 50 273 6 30 184
HFO90-L2 290 4M5,/4-MB 219 50 270 B 90 184
(Double) 2115 4M8 219,/022 B2 295 8 110 196
2130 4M8 219,022 62 295 8 110 196
2145 4M8 219,/022 65,5 2110 14 130 1995




DRAWINGS

- ca -
.65 13
55 _ |, 499 9130
- K ] : ’
— 58 ] !
To)
i . S0 =R
< o ] |
NS o] oo |~ - FF—t< ~
T g 5 =R H- 18R -
a ! A4
] gl
M12X25/ (%
|
S 1
Cé
€4
8
.65 _ 13
55 _ |, 4-¢9 8130
— 1 T ]
L0 .58 [
- S0 £
LL 0o I __qr._|.—
w0 ™~
T 3 &5 /= = 5 -1 &R -
5 s _‘ s s N O
M12X25/ T
1]y 1 |
Al ce
c4

Stage

HF11501 2115 4-M8/4-MB [219/022/224|  B2,5 295 8 130 194
(Single) 2130 4-M8 218/222/224 62,5 295 8 130 194
2145 4M8  [619/022/024| 655 2110 8 130 197

290 4-M5/4-M6 219 5748 270 6 130 230,5

HF115-L2 2115 4-M8/4-MB |219/222/224 62,5 295 8 130 235,5
(Double) 2130 4MB8  [019/022/024] 625 295 8 130 2355
2145 4-M8 219/222/ 224 65,5 2110 8 130 238,5




- cs -
97 2.
135 . |
—
< m 1 T
E)' 822 | = -4 -
< .70 - e
N R o | o AT, TS
N ! F—— 315 4R R
: I B :_l_J (G 28
_-— _];_lq‘
1
- e | 4 =
.. C6
L
e 97 12,
U 13.5 ]
g L8 ] T
N e a— — €3
L ! o i m =
» 28 = HE3t -8+ |r ’.:aﬁ
| — =Y i A= B _ | U
e . AT
M16X35/ | B i gl
L 1 1
l 6
(IR o

Stage
2115 4-M8/4-M6 222/ 224 67,5 295 8 115 249
145 4-M8 22/2024 72,5 110 8 130 254
HF140-L1 ° 022/ 2
[Sin Ie] 2200 4-M12 235,/ 238/ 242 82,5 2114,3 8 180 264
9 2200 4-M12 235/ 242 117 2114,3 8 180 296,5
2215 4N12 238, 042 875 2180 8 200 269
115 | 4MB/4MB | 022/024 67.5 95 6 115 3115
HF140-L2 ° / o22/2 °
[Double] 2145 4-M8 o222/ 224 72,5 2110 8 130 316,5
2200 4-M12 235 82,5 2114,3 8 180 326,5




DRAWINGS

le 105 6.5,
215 _ |
= - f g
= . 82 ] ' |
(@) i
80) —— | 5=
I o o |ldl ! & -r__?‘ ~
) <10 W =] B n
T R — SIS TE 88
i e
M20X35 | '
f
L J —— C6 e
4. L, [ 1180 -
- C8 -
- 105 165,
1 215 |
q] A ¢ ;
- I ]
()]
98]
i
T o~
g S R
= ! [V W
1 L
P . C6 e
(1180

Stage
2200 4M12  |035/038/042] 825 2114,3 8 180 286,5
HF180-L1 2200 4N12 235,042 117 21143 8 180 319
(Single] 2215 4m12 238,042 87,5 2180 8 200 291,5
2115 | 4M8/4MB | ¢22/024 67,5 295 8 115 3345
2145 4NI8 022/024 725 2110 8 130 3395
HF180-L2
i 2200 4M12  [035/038/042] 825 21143 6 180 3495
2200 am12 235,042 117 2114,3 8 180 382
2215 FEVIE 238/ 042 87,5 2180 8 200 354,5




TECHNICAL

Torque Speed Max force Backlash Efficiency = Weight
Stage Ratio Nominal Nominal Max Radial Axial
RPM [\ Arcmin

2 g3
o Q

HLF0O90 | HLFO60
W owmnoow

DRAWINGS

(e C8 -
37 8
7.5
o 28 T T
= — | r I
@ -2 =
2 g g | *TJ-—--:J REfn
| —— 11 L -] =xf 1
T g sy ] e I__:::;%__LLIS
M5X10/ e
L L] 1
1
. ¢6
ca
c8
L 48 12
105 |,
- 36
- —
= 33
O
LL |
— o o |
T ===
MBX16 |

Stage
HLF.OGD-L1 270 4-M4/4-MS 214 33 250 5 65 115
(Single)
90 4-M5/4-M6 19 50 70 6 90 148
HLFogo-L1 [ / ° °
(Single) 2145 4-M8 219/022/ 224 655 2110 14 130 163.5




Stage

Ratio

Torque
Nominal

Speed

Nominal

RPM

TECHNICAL DATA

Max force

Radial

N

AVAE]

Backlash

Arcmin

Efficiency

Weight

HXF042

3
3

3 !

3 :
5 1.3
5 g7 1.3
5 S 1.3
5 g7 1.3
5 97 1.3
5 97 1.3
3] 97 1.3
(3] 97 1.3
5 97 1.3
3 97 15
3 97 15
3 97 15
3 97 15
3 97 1.5
15 55 110 3000 6000 1500 760 5 97 2,0
16 65 130 3000 6000 1500 760 5 97 2,0
20 65 130 3000 6000 1500 760 5 97 2,0
25 60 120 3000 6000 1500 760 5 97 2,0
28 65 130 3000 6000 1500 760 5 97 2,0
2 30 55 110 3000 6000 1500 760 5 97 2,0
35 60 120 3000 6000 1500 760 5 97 2,0
40 65 130 3000 6000 1500 760 5 97 2,0
50 60 120 3000 6000 1500 760 5 97 2,0
70 50 100 3000 6000 1500 760 5 97 2,0
100 35 70 3000 6000 1500 760 5 97 2,0
3 160 320 3000 6000 3200 1600 3 97 4,0
4 165 330 3000 6000 3200 1600 3 97 4,0
1 5 160 320 3000 6000 3200 1600 3 97 4,0
7 135 270 3000 6000 3200 1600 3 S 4,0

10 105 210 3000 6000 3200 1600 3 97 4,
15 160 320 3000 6000 3200 1600 3] 97 9,9
16 165 330 3000 6000 3200 1600 5 97 5,5
20 165 330 3000 6000 3200 1600 3] 97 5,5
25 160 320 3000 6000 3200 1600 3] 97 5,5
28 165 330 3000 6000 3200 1600 3] 97 5,5
2 30 160 320 3000 6000 3200 1600 3] 97 9,9
35 160 320 3000 6000 3200 1600 5 97 5,9
40 165 330 3000 6000 3200 1600 5 g7 59
50 160 320 3000 6000 3200 1600 5 97 55
70 135 270 3000 6000 3200 1600 5 97 59
100 100 200 3000 6000 3200 1600 5 97 5119
3 335 670 3000 6000 6700 3300 3 95 8.2
4 345 690 3000 6000 6700 3300 3 95 8.2
1 5 335 670 3000 6000 6700 3300 3 95 8.2
7 290 580 3000 6000 6700 3300 3 95 8.2
10 255 510 3000 6000 6700 3300 3 95 8,2
15 335 670 3000 6000 6700 3300 5 95 12
16 345 690 3000 6000 6700 3300 5 95 12
20 345 690 3000 6000 6700 3300 5 95 12
25 335 670 3000 6000 6700 3300 5 95 12
28 345 690 3000 6000 6700 3300 5 95 12
2 30 335 670 3000 6000 6700 3300 5 95 12
35 335 670 3000 6000 6700 3300 5 95 12
40 345 690 3000 6000 6700 3300 5 95 12
50 335 670 3000 6000 6700 3300 5 95 12
70 290 580 3000 6000 6700 3300 5 95 12
100 200 400 3000 6000 6700 3300 S 95 12
3 650 1300 2000 4000 9600 4800 3 95 18
4 700 1400 2000 4000 9600 4800 3 95 18
1 5 650 1300 2000 4000 9600 4800 3 95 18
7 540 1080 2000 4000 9600 4800 3 95 18
10 455 910 2000 4000 9600 4800 3 95 18
15 650 1300 2000 4000 9600 4800 5 95 25
16 700 1400 2000 4000 9600 4800 3] 95 25
20 700 1400 2000 4000 9600 4800 3] 95 25
25 650 1300 2000 4000 9600 4800 5] 95 25
28 700 1400 2000 4000 9600 4800 5] 95 25
2 30 650 1300 2000 4000 9600 4800 5 95 25
35 650 1300 2000 4000 9600 4800 5 95 25
40 700 1400 2000 4000 9600 4800 5 95 25
50 650 1300 2000 4000 9600 4800 5 95 25
70 540 1080 2000 4000 9600 4800 5 95 25
100 410 820 2000 4000 9600 4800 S 95 25




DRAWINGS

Cc8

26 4
C2 C1 I~ =T
f 5
S . 20 7
Qu ! 2 15 1
< ,
- O | ol o {:774{
LL - e~ I~
< _ 2 & e c o lob o
T g g .‘ S L ___:__*_4__81 S:
‘ Lo f
MAXE L .
i I |
' g N
/ L. Ce
L Lc7 N L ca |
Cc8
Q
=
qV
< |/
(@) ]
2 e
r,,,‘,ﬁh,,
I 1 vf:* }3
= _‘(1 ot
b —— LY I‘
[
™
|l C6
e c7 - c4

Stage
HXF042-L1 246 4-M4 28 27 230 6 42 88
(Single) 045 4M3 28 27 230 B 42 88
HXF042-L2 246 4-M4 28 27 230 6 42 105,5
(Double) 045 4M3 28 27 230 B 42 1055

Page 12



DRAWINGS

_ 37
— 28.5
- i I—
O
@ 2 . 25
L . € o,
< ; 3 §I =
I Y S
M5X10 /
1
T
q]
— 285 =
D
8 2 _]__25 _
L>IZ 0
T g @ ;E :
a 9" J
M5X10 |

Stage
HXFPSO-L1 270 4-M4 / 4-M3 214 33 250 5 62 120
(Single)
HXFO60-L2
270 4-M4 /4M-5 214 33 250 5 62 143,5
(Double) ? / ? ?

Page 13



DRAWINGS

c8

105 _ ||
—
5‘ 36 1
% 3 —--—30 - r
% 5 £ e
5 /e » N T
T S ?:f ._-‘ - =3 L_JS
L- £3
M8X16 et
L 1
Al cs
€
- c8 -
- 10.5
@) 5 I
()] . 36 _ i
2 3.3 (-1
é [} - J‘-__jL_::}‘__r-.]I‘\
q == |t +—=—4+RR
S ; LGS
; [ ‘Hf_t:&;
IM8X16/ BTl
1 [ I |
i —t— Cé ‘ U
c7 c4 L 90 N

Stage
0984 | 4MB/4M5 | 14/ 219 50 073 B 90 150
290 4M5,/4-MB 219 50 270 6 90 1502
XFOS0-L1 2115 4-M8 219/022 B2 295 8 110 164
(Singls] 2130 4-M8 019/022 B2 295 8 110 164
2145 4aM8  |019/002/024] 655 2110 8 130 1675
270 4M4/4M5 o4 385 250 5 65 174
2984 | 4MB/4M5 | o14/218 50 273 B 90 181
XFO90-L2 290 4M5,/4-MB 219 50 270 6 90 183
(Double) 2115 4M8 219,022 62 295 8 110 195
2130 4M8 219,022 62 295 8 110 195
2145 4m8 219,022 B5,5 2110 8 130 198,5

Page 14



DRAWINGS

HXF115-L1

HXF115-L2

Page 15

Stage

HXF115-L1
(Single)

HXF115-L2
(Double)

- c8 -
.65 __ 10
A2
] 51 | y— ! }
| IS
5 40 i |

o ‘ X |

[=;] - - t o

= | L : jj T 3&2

e s ! ;r':“, : L

M12X25/ I e
1 1 I\— | 1
Al c6
S v S
8
65 10
s1 | | L !
5 40 -9
5 g e e e T
g § =t +——4—tH1 33
g = f !- : Y
M12X25/ | R

==l '

2115 | 4M8/4MB [219/022/024] 62,5 295 8 130 189
2130 4M8  |019/022/224] 625 295 8 130 189

2145 4M8  [019/022/024| 625 2110 8 130 192

290 4-M5,/4-MB 219 57,5 270 B 130 2245
2115 | 4M8/4MB [019,/022/024] 625 295 8 130 2295
2130 4M8  [019/022/024| 625 295 8 130 2295
2145 4M8  |019/022/224] 655 2110 8 130 232,5




DRAWINGS

Cc8
97 12
15 ||
-
3 f L 79 / ;
< 7.5 65 HHET
L g g = |
>< I} ‘:’ ?r F | 1] i g
T s St H-- e Y
/ M16X35/ SH |
, L=\
Cb
L c4a ] L 0142 N
- c8 -
97 2
QY 15 . |
—
% - 79 - |/ [ i
<~ 75 | . 65 _ . ;j|:
¥ ol =31 4~
i - — i il
5 g‘ } == 1
M16X35/ e gl
B — N '
—H. C6
- Cc4
Cc?

Stage
2200 4M12  |035/238/042] 82,5 2114.3 8 180 268
HXF142-L1 pueves am12 035, 042 117 01143 8 180 3005
(Singls] 0215 4m12 038,042 87,5 2180 8 200 273
2115 | 4M8/4M6E | 222/024 67,5 295 8 115 3095
HXF142-L2 pueryrs 4-M8 022,004 725 2110 8 130 3145
e 2200 a4m12 235 82,5 2114,3 B 180 3245

Page 16



TECHNICAL DATA

Mo- Torque Speed Max force Backlash Efficiency = Weight
Stage Ratio Nominal Nominal Radial Axial
type RPM N Arcmin

A

3 15
3 1.1
3 1.1
oY) a E
5 138
g 5 1.8
N 5 1,8
T 5 1,8
I 5 1,8
5 1,8
5 1,8
5 1,8
5 1.8
3 2.1
3 21
3 21
3 21
3 21
o 15 35 70 3000 6000 920 630 5 95 o6
© 18 45 a0 3000 6000 920 630 5 95 28
(=) 20 45 a0 3000 6000 920 630 5 95 2B
N 25 44 as 3000 6000 920 630 5 95 2B
I-I'- o8 45 a0 3000 6000 920 630 5 95 2B
2 30 35 70 3000 6000 920 630 5 95 2B
35 44 as 3000 6000 920 630 5 95 2B
40 45 a0 3000 6000 920 630 5 95 2B
50 44 88 3000 6000 920 630 5 95 2B
70 40 80 3000 6000 920 630 5 95 2B
100 00 44 3000 6000 920 630 5 95 o8B
3 100 200 3000 6000 1400 600 3 95 56
4 110 220 3000 8000 1400 600 3 95 5,
1 5 105 210 3000 6000 1400 600 3 95 56
7 100 200 3000 6000 1400 600 3 95 56
10 50 100 3000 6000 1400 600 3 95 56
15 100 200 3000 6000 1400 600 5 95 66
18 110 220 3000 6000 1400 600 5 95 6.6
20 110 220 3000 6000 1400 600 5 95 6.6
o5 105 210 3000 8000 1400 600 5 95 6,6
o8 110 220 3000 6000 1400 600 5 95 BB
2 30 100 200 3000 6000 1400 600 5 95 6.8
35 105 210 3000 6000 1400 6800 5 95 6.8
40 110 220 3000 8000 1400 600 5 95 66
50 105 210 3000 8000 1400 600 5 95 6.6
70 100 200 3000 8000 1400 600 5 95 6.6
100 50 100 3000 6000 1400 500 5 95 6,6
3 230 460 3000 6000 3000 2500 3 93 11
4 270 540 3000 6000 3000 2500 3 a3 11
1 5 055 510 3000 6000 3000 2500 3 93 11
7 180 360 3000 6000 3000 2500 3 93 11
10 120 240 3000 6000 3000 2500 3 93 11
™ 15 230 460 3000 6000 3000 2500 5 93 14
e 18 270 540 3000 6000 3000 2500 5 a3 14
- 20 270 540 3000 6000 3000 2500 5 a3 14
N 25 255 210 3000 6000 3000 2500 5 a3 14
L o8 270 540 3000 6000 3000 2500 5 a3 14
I 2 30 230 460 3000 6000 3000 2500 5 a3 14
35 255 510 3000 6000 3000 2500 5 a3 14
40 270 540 3000 6000 3000 2500 5 a3 14
50 055 510 3000 8000 3000 2500 5 a3 14
70 180 360 3000 6000 3000 2500 5 93 14
100 120 240 3000 6000 3000 2500 5 93 14
B 450 900 2000 4000 5800 4500 3 93 24
4 580 1180 2000 4000 5800 4500 3 a3 04
1 5 540 1080 2000 4000 5800 4500 3 93 24
7 390 780 2000 4000 5800 4500 3 93 24
10 230 460 2000 4000 5800 4500 3 a3 24
o 15 450 900 2000 4000 5800 4500 5 a3 30
< 186 580 1180 2000 4000 5800 4500 5 a3 30
- 20 580 1160 2000 4000 5800 4500 5 a3 30
N 25 540 1080 2000 4000 5800 4500 5 a3 30
L o8 580 1180 2000 4000 5800 4500 5 a3 30
I 2 30 450 900 2000 4000 5800 4500 5 a3 30
35 540 1080 2000 4000 5800 4500 5 a3 30
40 580 1180 2000 4000 5800 4500 5 a3 30
50 540 1080 2000 4000 5800 4500 5 a3 30
70 390 780 2000 4000 5800 4500 5 a3 30
100 230 460 2000 4000 5800 4500 5 93 30




TECHNICAL DATA

Backlash

Mo- Torque Speed Max force
Stage Ratio Nominal Max Nominal Max Radial Axial
type Nm RPM N

Efficiency = Weight

Arcmin %

3 1000 3000 9500 6800 3 93 39

4 1300 2600 1500 3000 9500 6800 3 93 39

1 3] 1100 2200 1500 3000 9500 6800 3 93 39

7 800 1600 1500 3000 9500 6800 3 93 39

10 460 920 1500 3000 9500 6800 3 93 39

15 1000 2000 1500 3000 9500 6800 5 83 45

8 16 1300 2600 1500 3000 9500 6800 5 83 45
- 20 1300 2600 1500 3000 9500 6800 5 93 45
E 25 1100 2200 1500 3000 9500 6800 5 83 45
T 28 1300 2600 1500 3000 9500 6800 5 93 45
2 30 1000 2000 1500 3000 9500 6800 5 93 45

35 1100 2200 1500 3000 9500 6800 5 83 45

40 1300 2600 1500 3000 9500 6800 5 83 45

50 1100 2200 1500 3000 9500 6800 5 83 45

70 800 1600 1500 3000 9500 6800 5 93 45

100 460 920 1500 3000 9500 6800 5 83 45

Page 18



DRAWINGS

. 87.5 -
C2 Cl ™ % i
'; o F - 5 ==
= 20
-— i —1
= 2 15
Q]
< ¥o) o
(@) I G g I
N e Bt C m| |
= Maxg' /
T 1 f
!
- : ®
oc? IH
<+ ~——azh Lj_
W A e
RV Ny
HE St
cel c367
C5G7
105

a
=
u
&
o
N
L
I

Stage
HF-Z042-L1
(Single)
HF-Z042-L2
(Double)

Page 19



DRAWINGS

1315 _
-— i
-
D
— Wy
N gl 18 -
L (
T
1
o0
_____ v
| RS R
S r_-.]" ‘F (alwnl
f i W
t 1
cef 7
C5G7
155.5
L 37 _8_
7.9
ﬂl L 28 g -
&) 25 |
Rs) L -
D o ol — v
N HEEE = Si1s—1 —
LL g s1
I M5X10 /
— 1

Stage
HF'Z.O sl 270 4-M4,/4-M5 214 32 250 5 B5 715
(Single)
HF-Z060-L2
7 4-M4 / ANI- 14 2 71
(Double) e /AM-5 o 3 250 5 B5 5

Page 20



DRAWINGS

168.5

L a8 _12_
o Al 105 |,
- I I
= 33
5] o u;)l .] m
w0

o) LB o8 = 2HE| 18 2
O s B ] "
N 3 MBX 16/
e
T |

I

-
w
1
c6|
- 2045 .~
48 12
105
oV i — 1T T T T
36
|
3 33
(@)] S W @ o o
E i 8 ; .j s 8 g 3 8
e MBX16/
T
! 1] 1 1 SI
L Oc? o |
6 T I’j v T
RER R
. |

Stage

0984 | 4MB/4M5 | 214/ 219 42 273 6 90 91,5

290 4M5,/4-M6 219 42 270 6 90 915
HF-ZO90-L1 e 4M8 219,/022 54 095 8 110 1035
(Sl 2130 4M8 219/022 54 295 8 110 1035
2145 48 019/022 57,5 2110 8 130 107

0984 | 4MB/4M5 | 014/219 42 273 6 90 915

HE-z090.Lo IS 4-M5,/4-MB 219 42 %70 6 90 915
(Double] 2115 48 019/022 54 095 8 110 103,5
2130 48 619/022 54 295 8 110 1035

2145 48 19/022 57,5 2110 8 130 107

Page 21



DRAWINGS

HF-Z115-L1

HF-Z115-L2

Page 22

Jo.

Stage

HF-Z-115-L1
(Single)

HF-Z-115-L
(Double)

e

-

. 2155 -
65 13
55 1.
58 — f
50
B ol
2 e —=ll ldl 1= o
Lon ”y —| L= —
8 9, ‘ o s O
M12X25/
- 1
! 1}
N —r— ;i\.
v LR
1 i - |
o] (367
L C5G7 J
257
65 .12
55 . |
! T
o8 - T ‘ i
50 ‘
\
uy [ 1 o i
I l 5 !
i
!
i } 1 o 1
i L ~
AR
< Y I
(W) ‘[ 1 ]'.:_
! |
LI ‘
Col £3G7
€567

2115 4-M8/4-MB 222 /224 57 295 8 130 119
2130 4-M8 222/ 224 57 295 8 130 119
2145 4-M8 222/224 60 2110 8 130 122
2115 4-M8/4-MB 222 /224 57 295 8 130 118
2130 4-M8 222/224 o7 295 8 130 118
2145 4-M8 222 /224 60 2110 8 130 122




DRAWINGS

HF-Z140-L1

HF-Z140-L2

Stage

HF-Z140-L1
(Single)

HF-Z140-L2
(Double)

97

281

135, [,

..]

138
@150

L1 ! - w0
T [R&
=X
nogmw 4
! 1!
€367 GT
. csgz
3435
e Y
135
— [}
f L 82
70 -

‘g" ‘“ci o 2 [=) .
1 8§ == HHEat1-84-H-——L— g
[~ S © © Ol &

M16X35/ |
! - 1
oS 15
- i by -
FE A 7 Y
7419 |
- S H
bsz c6
C5G7

1140

2115 4-M8/4-M6 222,/ 224 67,5 295 8 115 144
2145 4-M8 222/ 224 72,5 2110 8 130 149
2200 4-M12 235/ 242 82,5 2114,3 8 180 189
2200 4-M12 234,/ 242 117 2114.,3 8 180 181,5
2215 4-M12 242 87,5 2180 8 200 164
2115 4-M8/4-M6 222/ 224 67,5 295 8 115 144
2145 4-M8 222/ 224 72,5 2110 8 130 149
2200 4-M12 235/ 242 82,5 2114,3 8 180 189
2200 4-M12 235/ 242 117 2114,3 8 180 191.5

Page 23




DRAWINGS

304 .
105 6.5
21.5 e T
L 82 _
—
- L 75 . /
&) f i 1 : \
© . 2 =18 (8 g |
E | Sy / Rt a | .
T M20X40/
T
1 J : '
,::1'.._'__;; )
€367 ce
L 567
. 366.5 -
L. 105 1635
215 _ | -
qV T i
- 82
5 m—— 11k
— = l = = <
N um_, _.__.__.}_._._E__._g___ Pl 2 1 2_. |_
1 £~ f o B
LL # H o | i
I M20X40/
et 0
1 1 i ) 1
_‘[L_._ i
Qa7 c6l
L G567 )

Stage
2200 4M12 035,042 82,5 2114,3 8 180 159
HF-Z180-L1 puerers 4M12 | o35/042 117 2114,3 8 180 1915
(Single] 0215 4m12 042 87,5 2180 8 200 164
2115 | 4M8/4MB | o22/224 67,5 295 8 115 144
2145 4M8 202 /024 725 2110 8 130 149
HF-Z180-L2 g aM12 035,042 82,5 21143 8 180 159
[Double) 2200 a4m12 035,042 117 21143 8 180 1915
2215 aM12 042 875 2180 8 200 164

Page 24



REDUCER PART NUMBER

[x[¥3 090 - 20 -

000
060 6 0 600

X
g

@ Type: @ siz (060,090, 120..) © output shaft : @ Keyway:
S = Straight 0 = Plain 0=No
;‘ = HHE“CE" _ @ Ratio (03, 05,07, 10, 25, 100..) K = Hollow K = Keyway
= Aarmonic
e Angle : 6 Motor type :
O Vode!: 0 =0° Angle N23, N34, ADMB5, ARS115....
LE, LF, LS, LX ... Z =90° Angle

In accordance with our policy of continual product improvement, A2V reserves the right to amend the specification
of these products without prior notification

Parc Bel Air la Forét
6 rue Maryse Bastié
78125 GAZERAN

+33(0)1 61 08 62 19 www.a2v.fr a2v@a2v.fr




